HOW\KUOO(\\L Q\S

2 2
a2%89\ (2 N (av{)
(_3’%’&3—2)—2
2 -4 L —6 4
20y XY _ 3 u ASnt
(5-1&—(0"&* Nltgﬁ . A(’J- I\Lc’ (%‘ﬂ

\\
— |
N
2 o
w2
oS -
‘%&r)
J\
&M
T
'3
>

- & dermms addud

. Q)‘?VLQ%LOA CDW\"?D%Q&

U
%\Mﬁ ‘A 90\1\\1—\’\ Qac\f\ ‘\'Q\rm Nas \!O\I‘{m\ni(s LS'Q
?ae.'ﬂv& ‘mhglr rﬁaw&‘rg OV\\U\\.

&o\mf(;ﬂké 5? TOQQV\OMW&S . _ 5%’3.—_‘(’7(’2* C
__//f/
\— Bt
>
> 9,2
— oKX
- -7
AY f\M"{O-ﬂsl. A<
M"&nb T(X o (cld e AS
- — %
= 3’7 e s PV
X X




Q%‘F‘Q‘b & & ’(?J’QK\J)V\OM T«,O

> S T e \ \‘WTQ\A—QQD #"KJ\\& Ae:%“% S tha ﬁo\r%}&

'Z\ATDV\QV\:-\_,
= \T A oo L oc ol \xo\rio&oo&s 5 J<\\9~ &%NQ,

. % &our%)%% J!'O'\“‘k& Q"PONV-&.

N 9% s T

E\F L\)"‘C\' S "f\\n &Qcﬁr&g
L 2 R
A o\(‘)& el \ \’_\_om—X "Te‘\‘ Q ‘Fl?d/\»j
RET LI ﬁd_‘?om:: -&‘F?om‘\s — A
sa.’\'\—’b =5 = \x 9=6
(;Y@L\‘F—Sk

6%6‘0& NanlS S;'O(' C-er*o?\,\ ?aﬁﬂnovf@og\s

Colgpomiod it S Yarms:  Tirinomiok
RN w&\\ o~ WrmGs (D‘ur\a.m?o&
o)t.l(\/\ \ ‘&'UW\ ’ MO«/\om‘(aﬁ

_ Wy |
" OEVIRN-SV S SR sy s NI

~
I Bt L) e o A degre Helnomiy



\—eo“a\‘ffa Rt TTha term wi¥n bt Powdr,
\,_eao\\ (_ee'&c\m*\ CUCSR“\C\J{,\AY [9? 'ﬁu J&o\J\'.,S J,.me.
Leodty
G
N 6‘*— %W:)Jv ALK
- . G
\,_eao\lr\cb \’L““‘. A\ 4
\’Caa\r\% (M"{Ic_\-ev‘é& 3

(ﬁ-\\“ )\Lca\f Lo F\‘(\\\(\OW\\\QQN

.
Ev. K- X
Q&a&drz ey, — X

./,

L%A?Nﬁ coR \c,‘w;\: -\

(\'\A{‘p%b\% Monom: s

Exemple: (=75 ) ( 5%%
=T
faea
E\L“"‘!@Qn.‘, LA{\L B(—Q% %B

3 AR
= \ZAY K % Z
(\71\4‘\5?'*1. mO(\OA\:u&S
U A -
P o2 5
Ex- . === _\




A<A¢ 7\3\&\'\\(0(\ N gw\O’\““"C&‘OA O'Q ?ofq‘dvxom?als

PEPS L2 - /3\~>
S (3 - Inr )+ BT
?yk 9ALA< \7_ 8’% 7//’_)4 —é

\)ng — 6% +Q

By (553 - 1P+ D -~ x B - B — 0)
32 x \Y A\ [~ x B - P
Sl - \g\

-_—
-

< 5—»:5~_(f~/~ 19 VR Vi —8% NS L

R

_ \éﬁ? (S + B+ Lj

M= Aot ?ra\n.g&_w\ ™A ‘Q“‘OW\ 1\7.%44

éu.\o'\W&éY "E%l—?yx < % %\rcwx yl_y)(—k\

3 Na&-‘ll
T

NP e — (AT e 8 ot
o AN\ x A A% = (L5 ="

- \ﬁﬂfﬂ— A~ ~’1J




/\

F\(
SOMRDRVANED
- ’X%C‘@ N ’1\%@{>

- z - c 4 oy
_%6*'%?:’ T “b&kﬂ*\g,i

46 M&AV\*\PQ‘uc_oC‘VOI\ <§ FPodewomiQJS

E:AO\N\P»Q,\', A_‘l(? C_‘_r)\%"\ © (%'7(1—‘ %5

_ Al x AP () s Al ®)

—

- L— 8%—1 " QAM5~ 'b:bog ]

_9 23%“3%% —%‘6’52'2_* &%%2‘>

(_E,K-.' ——M(_/"?
_ 222 (Guy =2 (- 8472 D- 200y 2 (vy2)
- l(—- \O %3\{\1 ~ \b ‘VZL‘QQ 2> —8\2%4‘2a

’DO‘Q%Y\M\TCJ\‘) —k\(\ej (1\6\\}\9\ (;\ of \Mmorg _[_Q Fon

ﬂ\u&\‘\?%t/zj \
Ex (3D (x-8) (ot = o <loc
e~ b . m
\534/??&\ X %@l

22 - 2% BrAp :@z EPPIeY

A




(G —9) (e <)

{;’/x-.
= Q@M/@ — 5 (2xx%)
—
S\ A \B% —NO Kk AD
;EM'L YA
£y G 2 — T A= 2 9% NN

e

Yy (A - 2F < W =Ny -1 (g - 22 *91_\>
292 KAk B K

RN Pt 533—\&?4(1%
- }inf\ _9a — AN — G\ Jv—wJ

e <Zo<7‘— B+ 5 ) (G =9+ - @

e g (@ --8 = D (6x2—Sm—5)

)
- \’).9(4 —\Bx —\E
_4%f+1 ')_'E' + GAX

’2)0:\2’ — A5% — A0

::; A e -
\ e — eX ARk \gx—Ang

-




(RW\ Rer /\L\F\‘ T (5 WA da AL G

\S  mie O A7
(ST A A%

?{‘Q wﬂf»\ k%%?sn cy\q/\,'\T\
Rt MG (2787200 ad &7 (72205360

Qkuoor\L E\/o\m(agkg O ? %Cg@l ﬂg
Som :\,w P\f‘o\e—oﬂf\ . W\w‘\‘ow '\>V'O\QDJLW\



